1023, I\ BLT §2N =7 AT
K A AHMEE®B)

nR / NHTRY (e ) x4 (a_ﬁ.L;},-.ﬁ;;{i""‘
S L + (A +ihn)=0 =Wy A, 2a20.% - 24,0,
}Défﬁ,gﬁé ----- 2 b D>0T7 NER/IBETALIL L B
¥ | € p (1< VZ) vz bl 7 Fu S,
e a + - M 7 1% ¥k a—j_,zﬁﬁ =W~ % T I RALTHG =
ny 217 Een
R="E%+ 1 —RTe 7k~ 3 7,

(238) o (o0)= ( @, +< 4, )o<’”’+—----+(¢ﬁ+,¢,ﬁpyc"‘"ﬁ

= 2'73‘-'



O T O '-f?,h)= 2

ST ADA>A > - >a. D0, br=Aa . p (fe=
[y 2, === s, N K T =0 R RN
@Az = 7w,
(red) o= (A0 + -+ ay,c” AT +a, )

i (Bpx?t ot By T +4n)

v = b= Ay g Fu =320
Do 4t g™ o B
=)Lxﬂ( ai-k ----- a:ﬁ ----- -HZ,«_)
x« X

a a, .
=])\|\--—3+ ----- + L ﬁ'-}— -t Ay
x"l ‘x’{-

=|N| Ao - + a,,,l,hf,_ﬂ,f""-f-~---+— A |
<|Qoxﬂ+""'+ a%-ﬁ‘,’)f.ﬁ"i‘"--'-kanl
Boo b— i —s peay flas=0 b A3 L%k @=0
N/ o=y s TN A \QLI(/ ?‘“Fﬂﬁ ) HR 7 BV . 3 €
Ao 4o =0 1 BATN 7|2/ = 7 095 G0
B %38, Fla)=p N |xI<] 7 ath /127 #Hy.

L %)

_;"")7 ?_..



